Warm-Up: October 2, 2014
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1. Direction:

2. y-intercept:

3. Axis of Symmetry: ¥=.S

4. Vertex: (.SJ—Q.QS>

5. Factor the above. (X +2.)(X-— 3)

6. Using the Factors, what are the x-intercepts™
(-2 lo) ond (5)0
7. Use all of the info above to graph the function.

Find the Vertex of the following:

9. y=2x*—-12x+4 10. y=x*+8x+7 11. y=-2x* +12x -2
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What direction does the parabola of the following quadratic functions open?

1. y=3(x+5)P°-8 2.y=’€(2+8x+6 3. y=-3x+18x-4

e LP

Identify the y-intercept of the following (Hint: table may help):

Dowon

4. y=3(x+5)P*-8 5.y=x>+8x+6
(0,67) (0,0)
Identify the axis of symmetry for each of the following:

TheAOSis_ X = .
X=-2 .

6. y=-3x*+18x-4

(0)"’)

7. y=2(x— 8)% + 4 given the vertex s (8, 4)

8. y=2x* +8x + 5 given the vertex is (-2, -3) TheAOS is

|
Usethe following function to answer questions 12-16. y=3(x +2)* -8

12. Identify the vertex of this function. \{ <= (—'2,—8)
13. Does thisgraph reflect? NO

14. Identify the vertical shift of this function. Deowon 8
Left 2

vertical streleh

15. Identify the horizontal shift of this function.

16. Identify the dilation of this function.

Use the following function to answer questions 17-21. y=-% (x—4)> + 6

v={4,0)

17. Identify the vertex of this function.

\66 S

19. Identify the vertical shift of this function.

18. Does thisgraph reflect?
opP o
20. Identify the horizontal shift of this function. ri%h-}- 4

21. Identify the dilation of this function.  Vverdical shrink

22. Whatis the domain of all quadraticfunctions?

AU Real H5

Given the following equations in intercept form,
what are the x-intercepts of their graph?

23. y=3(x+8)(x—9)

¢-%,0)
Cxo)

24. y=-2(x—5)(x—10)

(s,0
Cto), D%

25. y=(x+7)(x+12)
-7,0)
(-12,0)




